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/INER AR HESE IEE e =] 2.5
/NER R < e R P)

/NER AR s YZH. ESL & 1

/NER R < Y R 1

/INER AR s YZH. REXH 0.7
/NER R < Y4 HB XL 1

/INER AR s IEE i 1
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/INER AR s Fiil HR e H 1

/NER R < YAy :| Lk oR 5.5
/INER AR HESE N g 0.7




/NER R < N BT 0.7
/INER AR s N 2EL 3
/NER R < yaY::| 3 Y 5
/NER AR i yay:: | BTk 1
/NER R < N B 5 ST 3.5
/INER R HESE N 28 1.4
/NER R < yaY::| 8 2 PR P)
/INER AR s yay:: | 8 2 B 2
/NER R BBSE i il s it 18
/INER R HESE 4 A 2.7
/NER R < KA EIUPN 8.5
/INER AR HESE 4 S ZE 5.5
/NER R BBSE i AR R 6.91
/NER AR i 4 X L& 5. 53
/NER R < 4 S 3.5
/INER AR s 4 fEF7K 5
/NER R < 4 R jik 3.5
/NER AR s H4 BB A 5
/NER R BBSE 4 BRI 3.9
/INER AR s H4 8 5 PR 7
/NER R < 4 i 5 7
/INER AR HESE 4 i %E & 2.6
/NER R < 4 8 31 [ 4. 15
/INER AR s 4 Vi 5. 53
/NER R BBSE i HEZE 0 6.91
/INER AR s H4 VFER 6
/NER R < J\4H i 2 B 5
/NER AR i J\H =t 5. 35
/NER R BBSE J\ZH R 10. 53
/NER AR HESE J\4 S SE 8. 4
/NER R < J\4H SR 9
/INER AR HESE J\4 S 58 5 3.6
/NER R BBSE JA:E 8 58 £ 5. 23
/INER AR HESE J\4 EEn 2. 34
/NER R < J\4H f 4R 2.3
/INER AR s J\H i+ 58 4. 68
/NER R BBSE JA:E Rl aE 4. 68
/NER AR HESE J\4 FES 3.5
/NER R < J\4H EiveLi 7
/INER AR s J\ZH. 575K 5. 59
/NER R BE=SF J\HH HF 3 5. 55
/NER AR HESE J\4 [ tia 3.51
/NER R BBSE J\HH [ 9. 36
/INER AR HESE J\4 T3 9.1
/NER R < JLA R 4
/INER AR s JUA BTk 4.9
/NER R BBSE JUA H -4 8.91
/INER AR s JLA LRI 5
/NER R BBSE JLA 51 BH 10. 4
/INER AR s JLA T 1] 4




/NER R BBSE LA EIBEiY ] 5. 94
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/NER R < JLA BBV 1L 6
/NER AR i JLA T 8.1
/NER R BBSE LA EIEET 7.2
/INER R s JLA iz Es 3
/NER R BBSE pAR:EN =] 5.6
/INER AR HESE JLA T 5.5
/NER R < JLAH PPN 5.5
/INER R s JLA T2 3.71
/NER R BBSE +4H S 7, 5. 83
/INER AR HESE +4 R HAE 7.5
/NER R BE=SF +41 BRI 5.7
/NER AR HESE +4 fEZE iR 3. 07
/NER R < +41 8 iy 3.9
/INER AR HESE +4 Fotp 7.3
/NER R < +4 LS 3.5
/NER AR s +4 R 9
/NER R BBSE +41 Hl % K 7.3
/INER AR HESE +4 ZER 8. 02
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/INER AR s +4 5 3. 83
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/NER R < +VUZH T IE 2.5
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/INER AR HESE + 14 B SE = 3.6
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/NER R < + i 5 1
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/NER R < + i el 1
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/NER R < + i Eivesid 1.2
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/INER AR A — It 1
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/INER R T —4f EyE 3
AN T —4H PV 3
/INER AR T —4f KA 2
/NER B T —4H PR 2.6
/INER R R — P K 3
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/INER AR A —4H PN 1.6
AN T —4H PV S 1
/NER AR A —4H FMEAF 2.5
AN T —4f FV 4
/INER AR T —4f PR 1
AN T —4H PR L 3
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/INER AR T — ki ES 4
AN T —4H vir 1
/INER AR T —4f BT 1
AN T —4H 2R 1
/INER AR A — A 4.5
AN T —4H FME 1] 4
/INER AR T —4f PV 4
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/NER AR A —4H v 3 2.2
AN T —4H MR P)
/INER AR T —4f MR B 1
/NER B T 4 shsde 4
/INER AR R —4 P 4
/NER R I — S ASEYN 2.3
/INER AR T —4 & 4
AN facgEn — F 7 I 4.5
/NER AR A e | N R 2.3
/NER R I — it R 3
/INER AR A — NG 2.8
/NER R i — kB 3
/NER AR T —4 KA 3
/NER R T i FIME B 4.3
/INER AR A — REST 1.4
/NER R I — ML ZE 2.6
/INER AR T —4 Pk R 2
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/INER AR A — ML 2.1
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/N jio)an —H RS 0.5
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/NERAH 5 )E =4 S5 4
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/NERAH 5+ =4 BER 4.5
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/N 5+ =4 #2225 5. 4
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/NERAH 5+ =4 5 R EE 1.6
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/NERAH eI En =4 R 3
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/NERAH eI En =4 % 2.3
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/NER R I =4 5 H IR 2.5
/INER AR A =4 SR 2.3
/NER R i =4 A [\ 1 2.2
/NER AR T =4 HEH 0.4
/NER R I =4 i R 1.5
/INER R T =4 7] AUl 1
/NER R I =4 # L E 3.5
/INER AR A =4 FE {7k 6.5
/NER R I =4 2R 3.1
/INER R A =4 42 U R 3.6
/NER R I =4 i HZ 0.4
/INER AR T =4 BEL 4
/NER R I =4 o S 2.7
/NER AR A =4 ISRy 1.6
/NER R I =4 RRZE 1.8
/INER AR A =4 PS5 1.5
/NER R I =4 o SYES| 0.8
/NER AR A =4 ey il 3.4
/NER R I =4 5 g 3.6
/INER AR T =4 Bl 6.5
/NER T =4 L 1.1
/INER AR T =4 S 4
/NER R I =4 5 PRKE 4
/INER AR A =4 SRR 2.3
/NER R I =4 iR =Rl 3
/INER AR T =4 T 4
/NER R i =4 AR 1
/NER AR T =4 2 EE 2.3
/NER R i =4 iRty 4
/NER AR T =4 jpiRan 3
/NER R I e 5 e 3
/INER AR T YZH. 5 L 2.1
/NER R I e 5 E 2.2
/INER AR A N RKER 1.2
/NER R I e REL 3
/INER AR T YZH. THKE 6
/NER R I e s 2.5
/NER AR R YZH. iy 3
/NER R I Y4 EEE 2.7
/INER AR T YZH. £ il 2
/NER R i e PN 2.5
/NER AR A IEE REtE 3.5
/NER R I e [ o A8 3
/NER R YZH. 2 L[] 1
/NER R I Y4 TEF 4
/INER AR T YZH. 5 L 3
/NER R I e A 0.6
/INER AR A IEE ERIE 1.5
/NER R I e 5 iR 2.5
/INER AR T YZH. 5 4




/NER R I e 5 1l 4
/INER AR T YZH. 5 I 0.8
/NER R i e THRE 4.9
/NER AR T YZH. PUESID 4
/NER R I e i 4
/INER R T YZH. £ 1l 4
/NER R I e B 3.3
/INER AR A IEE 42 1 i 0.8
/NER R I e RRIE 2.5
/INER R A IEE HEE 2.5
/NER R T Tl i e 4
/INER AR A Tl 4 2.5
/NER R T Tl 5 e 4
/NER AR R il £ R HE 2
/NER R T Tl F kg 4
/INER AR T Fi £ il 2
/NER R T Tl KR 1.6
/NER AR A TitH ®E 3.2
/NER R T Tl 5 A 5
/INER AR T il A= 4
/NER R T Tl 2 A g 2.2
/INER AR T Fii X %Z 1
/NER R T Tl 5 R 3
/INER AR A TitH (BN 2.4
/NER R I il FLUAF 2.7
/INER AR A TitH SEAE R 2.6
/NER R T Tl RET 4.5
/NER AR A il ZERK A 1.6
/NER R T Tl g i 2.5
/NER AR T il R 3
/NER R T Tl el 3
/INER AR A TitH FE5k X 2.4
/NER R T Tl £ I 3
/INER AR R il ®ET 2.5
/NER R T Tl s 1.8
/INER AR T TiiH 5 U 3
/NER R T Tl ENE] 1
/NER AR A TitH IR 2.4
/NER R T Tl 5 LR, 5.5
/INER AR T TiiH £ iz 3
/NER R i yaY::| R 3
/NER AR T yay:: | Pt 0% 3
/NER R I yaY::| i Ny 3
/INER AR R N =Y 4
/NER R I yaY::| KL 2.6
/INER AR T N FIMELER 4
/NER R I yaY::| wET 2.7
/INER AR R N eSS 1
/NER R I YAy :| FhE P)
/INER AR A yay:: | VKR 4.5




/NER R FL#H 1A — AR 4
/INER AR FLH A —4H KK 2.4
/NER R FL#H A — JE SC 4
/NER AR KA — kAL 1
/NER R FL#H 1A — HEH 2.5
/INER R KA — A A 4.5
/NER R FL#H A — HOK P)
/INER AR L #H [H] —4f X i 4 ]
/NER R FL#H A — Y 4.3
/INER R KA — JEHK I 1
/NER R FL#H 1A — HEE P)
/INER AR KA — FFEI 4
/NER R FL#H A — k25 B 3.5
/NER AR FE A — R 6
/NER R TR —4f ZRA 4
/INER AR KA — INEFL 4
/NER R FL#H A — il 75 2 1
/NER AR KA — X 9
/NER R FL#H A — kA 5
/INER AR KA — HAZE 4
/NER R FL#H A — K 2.6
/INER AR KA — R 1
/NER R FL#H A — FECEE 1.3
/INER AR FL A A —4H K 1.2
/NER R FL#H A — JiE A 3.7
/INER AR KA — K 1
/NER R FL#H A — AN N2 5
/NER AR KA —4f = 2
/NER R FL#H A — KA 5
/NER AR KA — D 5
/NER R FL#H A — K 4.5
/INER AR KA — KA 6.7
/NER R FL#H A — e P)
/INER AR FE A — R 1
/NER R FL#H 1A — FAE K 3.8
/INER AR KA — Az 4
/NER R FL#H A — BN 1.8
/NER AR FE A — K= 4
/NER R FL#H A — AR5 3
/INER AR FL A A —H HABIL 1.1
/NER R FL#H A — R 2.8
/NER AR KA — FRAE 1
/NER R FL#H A — R 2.6
/INER AR F #H [H] — S [F] B 2.3
/NER R FL#H A — AR 2.5
/INER AR KA — ERE 4
/NER R FL#H A — Ak 4
/INER AR FE A —4f o 7
/NER R FL#H A — HER 1.6
/INER AR FL A A — 'S 4.6




/NERAH A [ —4H FAZ K 1
/N A — X 2= 2.7
/NERAH A [ —4H RE I 0.8
/N F i [H) —4 KR 1.3
/NERAH A [ —4H (I IEDA 1.5
/N A —4H A i 2.7
/NERAH A [ —4H Rk 2.8
/N A — KHLE p)
/NERAH A [ —4H K E 4
/N A —4H RN 3
/NERAH H A [ —4H 448 1.5
/N A —4H BH p)
/N A [ —4H L ERAR 2.5
/N F i [F) —4 i 1.3
/NERAH A [ —4H KA P)
/N F i [F) —4 T 1.3
/NERAH A [ —4H HAZ ¥ 1
/N A — R 0.5
/NERAH A [ —4H LT 2.5
/N A —4H R R L 1
/NERAH A [ —4H RIS 3
/N F i [H) —4 A 2.2
/NERAH A [ —4H AR P)
/N A — A 1
/N A [ —4H L 2.5
/N A —4H FEE g p)
/NERAH A [ —4H ZE 2.6
/N F i [H) —4 B 2.5
/NERAH A [ —4H AREE 2.5
/N A —4H R p)
/NERAH A [ —4H A 2.5
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/N FL A A —4H FEaKED 2.8
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/N F i [H) —4 R 5.8
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/N A —4H Jil 2.5
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/N A — S K 4.3
/NERAH A [ —4H IS 5.5
/N A —4H HR % 1.5
/NERAH A [ —4H A 4
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/NERAH A [ —4H K 3
/N A —4H RS 3
/NERAH A [ —4H KIE R 4
/N A — JE AR p)
/NERAH A [ —4H PLER1E 2.2
/N A —4H ik p)




/NER R FL#H 1A — g 2.5
/INER AR FLH A —4H Az 2.6
/NER R FL#H A — eV 2.5
/NER AR KA — X 3
/NER R FL#H 1A — LRI 1
/INER R KA — JE KA 3
/NER R FL#H A — R P)
/INER AR KA — FAZED 3
/NER R AL [E —4H ABEF 1
/INER R FLH A —H TS 6.8
/NER R FL#H 1A — RVE 3.5
/INER AR FL A A —4H HAZHE 2.8
/NER R FL#H A — [ IEE 1.8
/NER AR FL A A —4H AR, 6.5
/NER R FL#H 1A — IR 6
/INER AR FL A A —H FE R 5.5
/NER R FL#H A — HEKRE 3.8
/NER AR FL A A —4H R IE 5.5
/NER R FL#H A — AN N2 6
/INER AR KA — AN AR 6
/NER R FL#H A — N 6
/INER AR KA — LIS 6
/NER R FL#H A — g 5.5
/INER AR FL A A —4H A 1.5
/NER R FL#H A — Ji 5 ] 1.7
/INER AR KA — LR 3
/NER R FL#H A — A s P)
/NER AR KA — R 1
/NER R FL#H A — FEK A 6.2
/NER AR KA — L 5.8
/NER R FL#H A — Jbg] 3.8
/INER AR FL A A —4H A 4.5
/NER R FL#H A — LIPS 1.4
/INER AR FL A A —4H 1.5
/NER R FL#H 1A — REER 1
/INER AR FL A A —4H e 1.6
/NER R FL#H A — AN N P)
/NER AR FL A A —4H (RN 1.5
/NER R FL#H A — T 3.3
/INER AR KA — K 2
/NER R FL#H A — ik it 2 1.7
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/NER R FL#H A — KA P)
/INER AR FL A A —4H A 1.5
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/NER R FL#H A — kA P)
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/INER AR 1 #H [F] — VR4 2.6
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/NER R FL#H A —4H JER 1.5
/NER AR KA — [ R 1
/NER R FL#H 1A — TEE 2.5
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/NER R FL#H A —4H i B 1
/INER AR FL A A —4H el 0.5
/NER R FL#H A —4H KR 9
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/NER R FL#H 1A —4f K I 6.8
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/NER R FL#H A —4H B 2.2
/NER AR FE A — k5 1
/NER R FL#H 1A — X ik 2.5
/INER AR KA —4f U 2
/NER R FL#H A —4H HEKE 1
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/NER R FL#H A —4H B A [ 1
/INER AR L #H [H] —4H FHEE 0.5
/NER R FL#H A —4H AN N 4
/INER AR FL A A —4H KT 3.5
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/INER AR KA —4f P 3
/NER R FL#H A —4H RS 3.5
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/NER AR KA — AN 1
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/INER AR KA —4f Y 4
/NER R FL#H A —4H i A 1
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/NER R FL#H A —4H A 6
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/NER R FL#H A —4H HEZE 1.3
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/INER AR KA — HER 5
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/NER AR KA — R 3
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/NER R AL [E —4H HEE P)
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/NER AR A —H Azl 3.2
/NER R & —H N 3
/INER R X — DAL 5.6
/NER R X —H FH= 6.3
/INER AR A —H B 6.3
/NER R EXE 4 Xl g AE 5
/INER R A —H ENILREN 4.5
/NER R X E — 2R 4.5
/INER AR X — NI 1.8
/NER R X — e 6
/NER AR X — Y NI 1.8
/NER R EXE — LR 3.6
/INER AR X — Ui as 3.6
/NER R & —H KRB 3.6
/NER AR A —H g2 4.5
/NER R EXE 4 AN 2.7
/INER AR A —H e 3.5
/NER R EXE 4 A 4.9
/NER B X — LBy 10
/NER R & —H R 6.3
/INER AR A —H TR 7
/NER R EXE 4 KAAT 5
/INER AR X — RIS 5
/NER R EXE =4 XL 6.3
/NER AR & =4 A IR 4.5
/NER R X =4 7575 4 2.6
/NER AR & =4 HREE 2.6
/NER R X =4 XA L 2.6
/INER AR X =4 eI 2 3.1
/NER R X =4 T 3.1
/INER AR & =4 EAKEE 3.5
/NER R X =4 X4l 3.5
/INER AR X =4 TS 3.5
/NER R EXE =4 AR 3.2
/NER AR X =4 XL 5.5
/NER R X =4 AP 1.7
/INER AR X =4 wEF 1.7
/NER R X =4 IR 9.4
/NER AR & =4 X% 6. 2
/NER R X =4 XA 3.4
/INER AR X =4 K 3.3
/NER R EXE =4 X R 6.5
/INER AR X =4 A 5
/NER R EXE =4 XEis 4
/INER AR X =4 ZRE 4.3
/NER R EXE =4 AR 4.3
/INER AR & =4 EH R 4.3




/NER R X =4 X% JE P)
/INER AR X =4 XX 4.7
/NER R X DY £ BXF 1L 4.5
/NER AR X YZH. X AR 3.7
/NER R X IeEEl AR ED 3
/INER R X YZH. e N 3
/NER R X e (LIS 3.5
/INER AR & N A% 3.8
/NER R A ) RO 7.8
/INER R & IEE T 3.8
/NER R X ItEEl BHE 2.5
/INER AR & N AT EF 3.7
/NER R X e L= 3.7
/NER AR & IEE TR 2.3
/NER R X ItEEl X H 8.5
/INER AR X IEE A 3.6
/NER R X DY £ AT HK 3.5
/NER AR & IEE X gl 4.5
/NER R EXE Tl e 3.4
/INER AR X il X5 3.4
/NER R EXE Tl eIM: 3.4
/INER AR & T2l RAPEE 3.4
/NER R EXE il AR 3.4
/INER AR & T2l R AE 4. 4
/NER R EXE Tl X iR 4.9
/INER AR X TiiH BT 4.9
/NER R EXE Tl R 3
/NER AR X Fii A% 3
/NER R EXE Tl e 3
/NER AR X Fii RAROE 3
/NER R EXE Tl A 3.8
/INER AR & TitH XA 1.7
/NER R EXE Tl XA 1.7
/INER AR X Fiil XA 1.7
/NER R X E Tl BT 1.7
/INER AR X Fii X)X 7
/NER R EXE Tl BXER 3.7
/NER AR & T2l AR 5.1
/NER R & Fiel XU 7.1
/INER AR X TiiH Az 3.9
/NER R EXE Tl X R 5
/NER AR X Fii RATEH 5
/NER R EXE Tl KT 5
/INER AR X Fiil A 5
/NER R EXE Tl A 5B 7K 5
/INER AR X Fii X 4
/NER R EXE Tl XEE 5
/INER AR & TitH T T 4.5
/NER R EXE Tl o I 4.3
/INER AR & T2l eI 4.3




/NER R EXE Tl XX = 4.5
/INER AR & T2l AT 3.4
/NER R EXE Tl XA 2.6
/NER AR X Fii X 2.6
/NER R EXE Tl XA 3.5
/INER R X Fi AT 1.5
/NER R EXE Tl XER 6
/INER AR X yay:: | X R 3
/NER R X yaY::| HEX 3.4
/INER R & N TER 3.4
/NER R X yaY::| 7 1 3.4
/INER AR & yay:: | RIS 3.4
/NER R X yaY::| X5 2.5
/NER AR & yay:: | T 5% 3.5
/NER R X N T g 3
/INER AR & N A EE 5.2
/NER R X yaY::| X1 ED 2.6
/NER AR X N X F 4
/NER R X yaY::| ] 4
/INER AR X N X [ 5 4
/NER R X yaY::| X X 4
/INER AR & N IS 4.2
/NER R X yaY::| 2K 1
/INER AR X N = e 3.8
/NER R X yaY::| AT 3.5
/INER AR X yay:: | RAEH 4
/NER R X yaY::| X R 2.5
/NER AR & N XK T 2.5
/NER R X yaY::| RAEE 1.7
/NER AR X N A 8
/NER R X yaY::| AT 9.4
/INER AR & N X [E R 2.4
/NER R X yaY::| AT 2 7
/INER AR & yay:: | X 5.4
/NER R X yaY::| KRS 1.6
/INER AR X yay:: | JEX il 3.4
/NER R X yaY::| 7 LM 3.4
/NER AR & yay:: | Tkl 3.4
/NER R X yaY::| X 4.5
/INER AR X N LT 4
/NER R X yaY::| eI =" 1.5
/NER AR & N RAZEAL 4.3
/NER R X yaY::| Bl P)
/INER AR X N = 3
/NER R X yaY::| XA 4.8
/INER AR X N FREE 3.4
/NER R X yaY::| L R 3.3
/INER AR & yay:: | P 2.3
/NER R X YAy :| R 5
/INER AR X N B 6
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